THRE

K =k

4

50 + 61x%+ 128x— 144 = 0

10x° + 101x% + 181x— 252 =0

43 — 13x% = 242x+315=0

X4+ ¥ —66x—216=0

X+ 168 +63x =0

o
=

H #A:

X+ 12 +36x =0

X+ 9% +20x =0

4 + 3532 +34x—105=0

6 — 97x% +441x— 392 =0

57 —x—5=0
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THBE

K =k

4

50 + 612 +128x— 144 =0

x:

,~4,79

10x° + 101x% + 181x— 252 = 0

9
x=—,—7,—4
10

4 — 1332 —242x+315=0
5

-,—7,9
4

x:

X4+ ¥ —66x—216=0
x=-4,9,—6

X+ 168 +63x =0
x=-7,-9,0

H #A:

o
=

X+ 12 +36x =0
x=—6,-6,0

X+ 9% +20x =0
x=—4,-5,0

A + 352 +34x—105=0
5
=, -3,-7
4

x:

6 — 97x% + 441x— 392 =0
7
Z,8,7
6

x:

57 —x—5=0
x=-51,-1
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